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Updated Complex
Example 1



End of

Round Round Price

1 $400k $400k $400k $400k $200k $100k

Round 1:  Enduring Applications:
A1, A2, and B bid the End of Round Price
C1 and C2 did not meet the End of Round Price; however, are
in a Feasible Set {A1,Ca}, {A1,C2}, {A2,Ca}, {A2,C2} and {B, C2}
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End of {\&,
A Round Price j(.,

1 $400k $400k $400k $400k $200k $100k

$900k $900k $800k $900k $300k $200k

Round 2: Enduring Applications: A1, and B met the End of Round Price
C1 and C2 did not meet the End of Round Price; however, are in a Feasible Set {A1, Ca},
§A1,C2}, and {B, C2}

Eliminated: A2 did not meet the End of Round Price while A1, positioned the same, bid more
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End of {\&,
A Round Price j(.,

ICANN
1 $400k $400k $400k $400k $200k $100k
2 $900k $900k $800k $900k $300k $200k
3 $1.5m $1.5m Eliminated $1.5m $400k $300k m\ﬂ/i
4
5
Results

Round 3: Enduring Applications: A1 and B met the End of Round Price
C1 and C2 did not meet the End of Round Price; however, are in a Feasible Set {A1, Ca},
{A1,C2} and {B, C2}
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End of {\&’
Round Price j(.,

ICANN
1 $400k $400k $400k $400k $200k $100k
2 $900k $900k $800k $900k $300k $200k
3 $1.5m $1.5m Eliminated $1.5m $400k $300k
4 $2.2m $2.2m Eliminated $1.75M $500k $400k
5
Results

Round 4: Enduring Applications: A1 met the End of Round Price
Ca did not meet the End of Round Price; however, was in the Feasible Set {A1, Ca}
C2 did not meet the End of Round Price; however, was in the Feasible Set {A1, C2}
Eliminated Applications: B did not meet the End of Round Price

Winning Application: A1
Winning Payment for A1: $1.75 m (the greater of A2’s final Exit Bid ($8o0k) and B's final Exit Bid 8 of 22
($1.75mM))



End of {\&,
Round Price j(.,

ICANN
1 $400k $400k $400k $400k $200k $100k
2 $900k $900k $800k $900k $300k $200k
3 $1.5m $1.5m Eliminated $1.5m $400k $300k
4 $2.2m $2.2m Eliminated $1.75M $500k $400k
5 $3.0m Prevailed Eliminated Eliminated $600k $500k
Results

Round 5:  Enduring Applications: None

Eliminated Applications: C2 did not meet the End of Round Price and Cz, positioned the
same, bid more

Winning Application: Ca
Winning Payment: Ca will pay $500k (C2’s Exit Bid Price)
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End of
Retna Round Price
ICANN
1 $400k $400k $400k $400k $200k $100k
2 $900k $900k $8o0k $900k $300k $200k
3 $1.5m $1.5m Eliminated $1.5m $400k $300k
4 $2.2m $2.2m Eliminated $1.75M $500k $400k
5 $3.0m Prevailed Eliminated Eliminated $600k $500k
Results Prevailed Eliminated Eliminated Prevailed Eliminated
Results: ~ Winning Payments:

A1 will pay $1.75m (the greater of A2's final Exit Bid ($800k) and B's final Exit Bid ($1.75m))
Cz will pay $500k (C2's Exit Bid Price)
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Updated Complex
Example 2



Rete RoE:f:II ;:ice
1 $400k $400k $400k $400k $200k $200k
2
3
4
Results

Round 1:  Enduring Applications:
A1, A2, and B bid the End of Round Price
Ca1 and C2 did not meet the End of Round Price; however, are
in a Feasible Set {A1,Ca}, {A1,C2} {A2,Ca}, {A2,C2} and {B, C2}
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End of {\&
Round j(_, )

Round Price
ICANN
1 $400k $400k $400k $400k $200k $200k
> $900k $900k $800k $900k $300k $301k
3
4
Results

Round 2: Enduring Applications: A1 and B met the End of Round Price

Eliminated Applications: A2 did not meet the End of Round Price while A1, positioned the

same, bid more;
C1did not meet the End of Round Price while C2, positioned the same or better, bid more

Winning Application: C2
Winning Payment for C2: $300k (Ca's exit bid)
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End of

Round Price

1 $400k $400k $400k $400k $200k $200k
2 $900k $900k $800k $900k $300k $301k
3 $1.5m $1.5m Eliminated $1.5m Eliminated Prevailed
4
Results
Round 3: Enduring Applications: A1 and B met the End of Round Price
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End of {\Q?
Round ;\'(’ )

Round Price
ICANN
1 $400k $400k $400k $400k $200k $200k
2 $900k $900k $8o0k $900k $300k $301k
3 $1.5m $1.5m Eliminated $1.5m Eliminated Prevailed m\ﬂ
4 $2.2m $2.2m Eliminated $1.75M Eliminated Prevailed
Results

Round 4: Enduring Applications: A1 met the End of Round Price
Eliminated Applications: B did not meet the End of Round Price

Winning Application: A1
Winning Payment for A1: $1.75 m (the greater of A2’s final Exit Bid ($800k) and B'’s final Exit
Bid ($1.75m))
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Rete RoE:f:II ;:ice
1 $400k $400k $400k $400k $200k $200k
2 $900k $900k $800k $900k $300k $301k
3 $1.5m $1.5m Eliminated $1.5m Eliminated Prevailed
4 $2.2m $2.2m Eliminated $1.75M Eliminated Prevailed
Results Prevailed Eliminated Eliminated Eliminated Prevailed

Results:  Winning Payment:
A1 will pay $1.75m (the greater of A2's final Exit Bid ($800k) and B’s final Exit Bid ($1.75m))

C2 will pay $300k (Ca's Exit Bid Price)
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Updated Complex
Example 3



Rete RoE:f:II ;:ice
1 $400k $400k $400k $400k $200k $100k
2
3
4
Results

Round1: Enduring Applications:
A1, A2, and B bid the End of Round Price
Ca and C2 did not meet the End of Round Price; however, are
in a Feasible Set {A1,Ca}, {A1,C2} {A2,Ca}, {A2,C2} and {B, C2}
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End of {\Q?
Round ;\'(_’ )

Round Price
ICANN
1 $400k $400k $400k $400k $200k $100k
2 $900k $900k $800k $900k $300k $200k
3
4
Results

Round 2: Enduring Applications: A1, and B met the End of Round Price
C1 and C2 did not meet the End of Round Price; however, are in a Feasible Set {A1, Ca},
§A1,C2}, and {B, C2}

Eliminated: A2 did not meet the End of Round Price while A1, positioned the same, bid more
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End of {\&’
A Round Price j(.,

ICANN
1 $400k $400k $400k $400k $200k $100k
2 $900k $900k $800k $900k $300k $200k
3 $1.5m $1.5m Eliminated $1.5m $400k $300k m\ﬂ/i
4
Results

Round 3: Enduring Applications: A1 and B met the End of Round Price
C1 and C2 did not meet the End of Round Price; however, are in a Feasible Set {A1, Ca},
§A1,C2} and {B, C2}
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End of {\&,
Round Price j(.,

Results

Round 4:

ICANN

$400k $400k $400k $400k $200k $100k

$900k $900k $800k $900k $300k $200k

$1.5m $1.5m Eliminated $1.5m $400k $300k “\“/Z
$2.2m $1.75m Eliminated $2.2m $400k $300k

Enduring Applications: B met the End of Round Price

C2 did not meet the End of Round Price, however is part of Feasible Set {B, C2}, which did meet the End

of Round Price

Eliminated Applications: A1 did not meet the End of Round Price; C1 did not meet the End of Round

Price
Winning Applications: B and C2
Winning Payment for B: $1.892m ((2.2m/(2.2m+300k))*(2.75m+400k))
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Winning Payment for C2: $258k ((300k/(2.2m+300))*(1.75m+400Kk))



End of {\&,
Round Price j(.,

ICANN
1 $400k $400k $400k $400k $200k $100k
2 $900k $900k $800k $900k $300k $200k
3 $1.5m $1.5m Eliminated $1.5m $400k $300k
4 $2.2m $1.75m Eliminated $2.2m $400k $300k
Results Eliminated Eliminated  Prevailed Eliminated Prevailed

Results: ~ Winning Payments:
B will pay: $1.892m ((2.2m/(2.2m+300k))*(12.75m+400Kk))
C2 will pay: $258k ((300k/(2.2m+300))*(1.75m+400Kk))
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